EARAROBEEIERT — 2 N— IBISH —F

2018558120 (£) SEIE#A7H

miﬁﬁfi/\'f Vrr7 JG2 #SREF4mLE (BS) AE [xwlw | lEmml - w5 s 8
[A&4£] 1 7 41,000,000  ~ 2 7% :16,000,000 § . 3 7 :10,000,000 @ 4 & :6,200,000 @ 5 j& :4,100,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s s HhiEEA :33. —1-1- . — hTFIth (ER)
i 3| TRE—H LY > 5 N 4(3_3)8 2-1-1-1 | 13.9 2 (4_922) e
AL aY LYY BT RRAYTLL () #BaA-FKL—a>AET7
) =@ o) 4-5- o] — HEEHE (FEH)
2|5|5 |k NI/ T NI e s 140 1 ffg) ) E4h - TU—F—Z - 1=+
R:T7 R4 Y L= B:HLE3Y KK
= TN T 134, 02— . — EHRZEE (FX)
al1] 1| FATatAT K e 4 R R
LFAILANTH— B:FAILt—S v N7 7 — L
> 4 g | HEHEH 4:35.3 5-5-4-3 |14.0| — 3 512 | 4 (ER)
4|77 | XTRIVTAITRZ 60.0 3 1/2) w2 | W $ITLyEs5T 5707
L:o RKYIYRIRX B:7zUT7—FK 2= Fii5
N ¢ — = REREX :36. -2-3- . — =2/ (FR)
5 6| 8H/P—N=F 4 # 5 R 4(396)7 1-2-3-4 | 14.1 6 <5+048) fg\xﬂa
L:€r/0704 B:UACTF4TH HREMHFV LA/ 77— L4
N KiLRE :37. —6-6- . — MEILTE (i)
6 4 h—t X yy 4 6 i 4(347)4 6-6-6-6 | 14.1 8 (4:;) /_%Hn(ggﬁ
R:bh—t>TS4 0 B:b—t>TRF ElREH IXF1T77—LA
;= > 5 | BEHR 4:40.1 7-7-7-7 | 14.3| — 5 484 | BIIRIML (BRR)
7 o |ANTZ 71 600 (51 %) o) | (8 HAL-ZA-2
LNnN—ErTv— BV F—IFA b HET77—L4
= = AR — : -8-8- — REZEZ ((H)
slglg|vas1717> 5 a (47.4:2;;) 8-8-8-8 | 14.4 7 ?—7;) iha-td
LY LTAN—F B:aA—-H KXY BRI LK
@ 71 L
) 51.3-38.2
NaraAq L
® I —F—EBIERL
1T=7r= (x6,3)1=5,7=4=2,8
2= = 3(6,1)-5,7=4=2,8
Gol=5r= 3,1-6-7,5=4=2-8
40—+ — 3,1-7-(6,5)=4=2=8
[ N3
BB 3 430M 714K 3-5 180H B E 3-5 350M JEHE 1-3-5 720M
8 B 3 130M4 =8 390M B H Bgd 920M B Bt 3,630
5 110 1-5 240M
1 140/

ABICOVWTRDTEEERROODE. TR LIV,




